Chapter 5: Cost-Benefit Analysis of Price Contyrols
1. Suppose the government guarantees wheat farmers a minimum price of P'. Assume that this price lies above the price that would exist without any government intervention. The government guarantees this price NOT by buying up any surplus of wheat that may exist at P', but rather by making up the difference between whatever price wheat farmers get on the open market & the guaranteed minimum price of P'. That is, government payments will equal (P'- Po)(Qs), where Po equals the price farmers sell their wheat for on the open market.

a. What is Po? Hint: First determine the quantity of wheat supplied at P'. Having done this, next determine at what price to consumers will quantity demanded equal this quantity supplied. 

b. Using a supply and demand graph, find consumer surplus, producer surplus, government expenditures on this program, and the social total both before and after the program is implemented. In addition, provide a column which shows the change in each of the above items. Keep in mind that the price sellers receive (P') will be different than the price consumers pay (Po).

c. What is the deadweight loss (if any) of this program? How does this deadweight loss compare with the deadweight loss that occurs in a  program which guarantees farmers a minimum price of P' by buying up any surplus that exists at that price? 
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                                                                                                      (Recall that quantity supplied is determined by P’.)


                                     A

                            P’                                                                                                 Before       After           Change   .
                                            B            C                                                        C.S.        AB       ABEFG         +EFG       

                            P*                                  D                                                 P.S.        EH       BCEH           +BC                    

                                        E                                                           Cost to Govern.       0        -BCDEFG      -BCDEFG
                            P0                       F      G                                    Social Total         ABEH     ABEH-D         -D

                                    H

                                                                                              D

                                                           Q*        Qs                             Q

